EARAROBEEIERT — 2 N— IBISH —F

20145128138 (4) 5HEFR#3H

SR N

5

CES)

[($57E] Fikb

‘ [R1%] & ‘ [REBE] — | Z (&) 12000 B

[A~&£] 1 7% :7,000,000  ~ 23 :2,800,000 33 :1,800,000” 43 :1,100,000F ~ 5 j& :700,000 M

ABICOVWTRDTEEERROODE. TR LIV,

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s 4 2 | ERH 1:11.1 1-1 35.7| 78.4 | 2 444 | BAET (FR)
11111 EM/E=FZ 54.0 (=) (—) |EEET
L:F15>8) BT r—H-I HET7—L4
> KRS _ s 2 | EERMAETT 1:11.3 5-5 35.4| 76.5 | 5 432 | AtESH (ER)
2055 | XM F—LA 54.0 (1 1/4) (=) | A
L:Tv IRy b BT NEXT 4T — elitie
#o2 | R 1:11.6 87 |35.0| 738 | 1 | 422 |EFEE ER
3l7|7|V7F 54.0 (1 3/4) ) ) *r0v k77— A
RFFHRFFLT BFAT4 J—HrTr—L
Sy o= S st o2 | JIIERHHE 1:11.8 6-6 35.4| 71.6 | 4 466 |BE—H (ER)
4|8l10| ¥ r—¥7—-7 55.0 (1 1/4) () |AmE
L7ty b BFU-—2H-I # HBE
LA # o2 | ESHN 1:12.1 2-2 36.6| 68.7 | 3 464 | KREBZ (ER)
] 4|B=7Ev b 55.0 (1 3/4) (=) | St
L:Y=2424—-3=24— B:OXTT757— FR=8F 77— Ln
s = = FHEZ 2. — . . TERK (ER)
6lglg|*T¥avuz7Ll e 55.0 171%:; > %.2) 8.7 9 (432) AR
Ri*xfavR—5— B:x(4>ayI)—-X Skt e
N FLE—BB : = BERRIE (EXR)
7 6l UvhFLLY k= B2 o 1(/1\3; 3-3 36.5| 68.6 | 7 (484) BRu
R:g=Z/F¥LLy b By HIRS-T FEO%%E
S H S # 2 | ENEE 1:12.3 7-8 35.8| 66.5 | 10 300 | RiEEZ (ER)
8 2 arratyx 54.0 (1 1/2) =) ch3t i
L:4=/¥LLy b B:OXTI—F INEHHIS
A - o2 | FIHEEZ 1:12.7 9-9 35.8| 62.5 | 8 460 | FIAItE (3E3R)
9 3 S Eln Ry pi N 55.0 (2 1/2) (=) |WAET
R:nNd B E—-srT—L KA
oS 4 2 | EHEEHR 1:14.0 3-3 38.4| 52.8 | 6 430 | REBE (EX)
1008 8| Y- NFANT 54.0 @ ) |EEEE
L:viNnygrh7r B:v—~x7Z20v> BH T
@ 21 L
£y 47.4-35.7
NA> 24 L | 12.3-11.4-11.7-11.8-11.5-12.4
@ I—F—@EBIERL
13—7-
23—7F—
== 1,4(6,8)5,10,2,7(3,9)
41—F— 1,4(6,8)5-10,7,2(3,9)
[ RN
B Op 1 360M 794K 1-5 5001 & 1-5 2,150/ &R 1-5-7 960F
BB 1 130M4 1-7 180M B E 19 1,640 EE 17 7,600
5 190M 5-7 330M B H 1-5 2,860M
7 1109




